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QUESTION 1

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.)

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility.

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility.

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility.

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility.

E. When the same serial number, which is already present on the same Sku in a different facility, is scanned.

Correct Answer: ABE

QUESTION 2

Which two data conditions on the Outbound Order will always result in unsuccessful cross-dock allocations in WMS
Cloud? (Choose two.)

A. The item on the Outbound Order does not match the item on the LPN being received.

B. The quantity of the item on the Outbound Order is less than the quantity of the item on the LPM being received.

C. The quantity of the item on the Outbound Order is greater than the quantity of the item on the LPN being received.
D. The item on the Outbound Order is a batch tracked item.

E. The quantity of the item on the Outbound Order is exactly equal to the quantity of the item on the LPN being
received.

Correct Answer: AB

QUESTION 3
Select four true statements about System Directed QC. (Choose four.)
A. Once system directed QC is turned on, all receipts go through QC.

B. Iltems are flagged based on the vendor that sent PO and ASN.
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C. For QC to happen, the vendor has to be configured in the system.
D. How many SKUs are flagged for QC depends on what is specified in the vendor QC Screen.
E. The QC process required the use of Purchase Order.

Correct Answer: ACDE

QUESTION 4

Your client finds it easier to read reports without repeated values. The client shared an example report to demonstrate
the way they want their columns to be displayed.

What action should you take to make your report look like the example report provided by client? Report A: A. Select the
Hide Repeated Values icon.

Report Title
Customer Order Number Date Ordered
Alfreds Futterkiste 10643 08/25/1997
Alfreds Futterkiste 10692 10/03/1997
Alfreds Futterkiste 10702 i0/13/1907
Alfreds Futterkiste 10835 01/15/1998
Alfreds Futterkiste 10952 03/16/1098
Alreds Futterkiste 11011 04/09/1098
Antonio Moreno Tagueria 10365 11/27/1996
Antonio Moreno Taqueria 10507 04/15/1997
Antonio Moreno Tagueria 10535 05/13/1007
Antonio Moreno Tagueria 10573 06/19/1997
Antonio Moreno Tagueria 10677 o0of22/1097
Antonio Moreno Tagqueria 10682 09/25/1007
Report Title
Customer Order Number Date Ordered
Alfreds Futterkiste 10643 08/25/1007
10692 10/03/1007
10702 10/13/1997
10835 01/15/1998
10952 03/16/1998
11011 04/09/1998
Antonio Moreno Taqueria 10365 11/27/1006
10507 04/15/1997
10535 05/13/1997
10573 06/19/1997
10677 09/22/1997
10682 09/25/1997

B. Select the Hid Common Values icon.
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C. Select Chart Wizard, and delete repeated values.
D. Select the Suppress Duplicate Values icon.

Correct Answer: C

QUESTION 5

Select the two data formats supported by Oracle WMS Cloud with its built-in interfaces and APIs. (Choose two.)
A. JSON

B. Delimited Flat File

C. EDI

D. XML

E. pdf

Correct Answer: BD

Reference: https://docs.oracle.com/cloud/latest/owmcs_gs-cloud/OWMAP/OWMAP.pdf (6)

QUESTION 6

The following configuration is set for the Advance Shipment Notification type: 10% Under Receipt Warning, 10% Over
Receipt Warning, and 20% Over Receipt error. Which two statements match the condition set if the ASN Qty is 100?
(Choose two.)

A. When the Operator receives 125 units, the RF screen displays an Over Receipt warning message.

B. When the Operator receives 101, the RF screen displays an Over receipt warning message.

C. When the Operator receives 110, the RF screen displays an Over Receipt warning message.

D. When the Operator receives 89, the RF screen displays an Under Receipt warning message.

E. When the Operator receives 130 units, the RF screen displays an Over Receipt error message.

Correct Answer: CE

QUESTION 7

Item X has product life as 40 days and % Acceptable as 40%. You are doing receiving for your company via RF and
today is Sep. 15th, 2017. The receiving transaction that you use to receive Item X has left the screen parameter allow-
rem-exp-override blank, and has the screen parameter allow- inv-exp-override set to on. Identify two valid facts.
(Choose two.)

A. When you communicate to the RF that the expiry date of Item X is Sep. 30th, 2017, the system will allow you to
receive it.
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B. When you communicate to the RF that the expiry date of Item X is Oct. 25th, 2017, the system will allow you to
receive it.

C. When you communicate to the RF that the expiry date of Item X is Oct. 10th, 2017, the system will allow you to
receive it.

D. Expiry date is the only date value that you can enter via receiving transactions, but it is optional based on the items
configuration.

E. When you communicate to the RF that the expiry date of Item X is Oct.20th, 2017, and there\\'s an existing inventory
of Iltem X whose expiry date is Oct.4th, the system will allow to receive it.

Correct Answer: AD

QUESTION 8

Which two packing transactions do not require you to open up an IB LPN (Everything will go in the box)? (Choose two.)
A. Pick Cart Transaction

B. Distribution Transaction

C. PackNC Transaction

D. PackLPN Transaction

Correct Answer: AD

QUESTION 9

Select the two routing configurations that are used to specify routes for outbound loads. (Choose two.)

A. the Routing Mode on the Carrier Ul Screen

B. the company parameter PACKING_ROUTING_MODE

C. the Routing Mode on the Wave Template D. the Routing_Mode parameter on the Loading RF Transaction

Correct Answer: AD

QUESTION 10

You are using the WMS Cloud at the Stores as well as the DC. Your workflow at that Store requires that you quickly pick
orders for the customer when they arrive. Which configuration allows you to achieve this workflow requirement?

A. Create an Order Type with the flag "Allocate during Pick" enabled so that you can pick orders at the store without
waving.

B. Set the Order Type to "Pick Without Wave". This allows the RF options to automatically pick up those order and
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display to pickers.

C. Create a Flow Through process and configure each customer\\'s address as a "Designation Location"

D. Change the Order Type to "Rush" and wave it because the customer is waiting.

E. Create a wave template with Wave Template Type "Store", then wave will allocate orders in a FiFO sequence.
Correct Answer: A

Reference: https://docs.oracle.com/cloud/owm70/owmcs_gs-cloud/OWMRN/OWMRN.pdf

QUESTION 11

You are the Inventory Control Supervisor at your employer\\'s East Coast facility. Your employer is a 3PL,
and your customer is a large company that is also serviced out of the other 3PL facilities. As you start the
shift, your Inventory Control team members inform you of a significant change in the RF Cycle Counting
process.

Lost IBLPNs are now updates with a "00" lock code rather than the expected "LL" code.

Which scenario is causing this issue?

A. You dismiss the concern because a change in the lock code has no impact on either the WMS Cloud or host
inventories.

B. Your counterpart at the 3PL\\'s other facility changed one of the cycle counting company parameters and that
impacted your workflow for that same company.

C. An inventory team member in the other facility marked a lost case with "00" lock code causing all subsequent lost
cases to be defaulted to the same code across all LPNs for all company/facility combinations.

D. While counting LPNs at a location, one of your team members marked a lost case with the new lock code. The new
lock code is stored in system memory and applied to all IBLPNs counted as "Lost".

E. One of your inventory team members changed his/her RF parameter default lock code causing the same
configuration change to propagate to all users in the facility.

Correct Answer: D

QUESTION 12

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification
status mismatch.

Which three are valid? (Choose three.)

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively.
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B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation.
C. This error message will disappear if the RF screen parameter split-uom is left bank.

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
transaction.

E. The from-IBLPN and the to-IBLPN might be received against the same ASN.

Correct Answer: BCE

QUESTION 13

Which two options are true if inventory is unallocated and unavailable? (Choose two.)
A. Inventory located in a drop zone

B. Inventory located in active location

C. Unlocked inventory located in reserve location

D. Inventory in locations with lock codes

Correct Answer: CD

QUESTION 14

What configuration is needed to create Advance Shipment Notifications for a Transfer Order shipped between two
facilities configured in the same WMS Cloud environment?

A. The Facility parameter key AUTOLOAD_and_SHIP should be set to Yes.
B. The "ACCEPT TRANSFER SHIPMENT" flag should be enabled on the Facilities Ul screen for the Source Facility.

C. The "ACCEPT TRANSFER SHIPMENT" flag should be enabled on the Facilities Ul screen for the Destination
Facility.

D. Set CREATE_ASN_FOR_EACH_PO to YES at Source and Destination Facility levels.
E. Set CREATE_ASN_FOR_EACH_PO to YES at the Company level.

Correct Answer: C

QUESTION 15
Which three configurations are required to sort the SKU A and B while receiving? (Choose three.)

A. An IB Shipment Type should be created to receive Purchase Order with sort SKUs.
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B. Use Custom Field in Vendor Ul to map the item that needs to be sorted.

C. Break Rule with Criteria needs to be set for the Sorting Rule.

D. Receive Station Location for Sorting should be created and mapped with the Sorting Rule.
E. Putaway Type should be configured for the SKU.

F. The Locations Size type should be defined for each Receive Station Location.

Correct Answer: ABE
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